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— 719% STIR M09 119095 9257
This is how we read the text; eventually he admitted to him

OVERVIEW

The narrative in the X713 according to our X077 is that there was a dispute between
7°AX 72 °7°X 27 and a relative (;7°2°7p2) as to who should inherit the tree which 7°2p
X"2x77 left over. Each one claimed that he was the closer relative. 71°2p took
possession of the tree initially, but subsequently admitted that X"ax3 was the closer
relative. After X701 27 placed the tree in the possession of &"2X7, he (X"2ax7) wanted
that 7°2°7p should pay him (X"2x9) for the fruit which 7°2°7 consumed while it was
in his possession. 111 ruled that 7°277 need not pay for the fruit since until now
2P insisted that he was v 1177 (and his admission now [according to the
n"awn]' is his way of giving X"ax" a gift).” However X271 »ax maintain that since
he admitted that X"2X7 1s 50 1P, he is liable to pay for the fruits. MooIN offers
alternate NIXD7% and interpretations of this episode.

— DINA YPTN 1Y 10 PR 29 BY PITNY N¥YY 19D RY RIN 990 2999 17INT 9293 NY)
And the text does not read that, 7°2°7p admitted that ‘he (X"2X9) is a closer
relative’, but rather ‘he [merely] admitted’; meaning that 7°2°77) did not want to

argue with R''289, so he gave him the tree gratis -
— 41 2P NPAY Prava X

But not because 7°2°7 admitted that X"2X7 was a closer relative -
— 90 NP NIN 9INT 1NN NN RTON 29 99NP 92N Qv

And therefore 11''9 said to X"aXk", ‘but 7°2°7p is the one who maintained ‘I am

the closer relative’’ -
— 99 9P ANNY 5rava XY ‘[b 19 MNINIY

For he gave it to you willingly, but not because you are a closer relative -
— YTIN YTINT 1992 »920 NI AN

However X2m 28 maintain that since he admitted that the tree belongs to

X'"2X7; he admitted and must pay for the fruits -
— 2999 A1 NIV 2395 KON 19 5191 190 NY “Nanom)

LoRaR "
? The difficulty in this logic is apparent. If 72™p stated explicitly that X"ax" is *ov 217p, why should we read
anything else (that he is giving it as a gift) into it.
? See footnote # 2. MO rejects the explanation of the o"awA.
* The a1 ny31 amends this to read Rnanons (instead of XAnoMY).
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For presumably 7°27p did not forfeit his rights to X"2X7 unless he realized that
X"2X7 was the closer relative.

mooIn has reservations about this interpretation:
— °Na9) AN NYaD 19 N PINT Y NIN PYD

And the expression, ‘he admitted’ is somewhat stilted, and similarly the logic
of X291 992K is wanting.

In summation: 2P ‘admitted’ and gave the tree to X"ax9. X"ax" did not collect the M7
according to 11" because it was merely a gift. X271 »2X maintain that since he admitted and gave
it to X"2X" it is presumed that X"2X" is *v 277 and is to be paid for the M.

Mmoo anticipates and rejects an alternate explanation with the X077 of v 2117p:
— M99 Yax N9+ WV NN 29V 21D 1NINT 13207 WY PN)

And we cannot explain that the X0 is (that 7°2°7p admitted) 5@ 2192 Y7987 and
the reason "1 exempted 72 p from paying is because 7°27p claimed that he did

not eat any fruit (while the tree was in his possession) -
— DONY 021315 1N YN 29D

But ®'"% had witnesses that he did eat the fruits -
— NYPIUN Y1 5910 NI¥IP NIN VIND INON MNDT N

And [x7o1 29] said, ‘but 7°27p said ‘I am a closer relative’’; meaning that
initially 7°2>p said *50 %3279 XX -

— P11 790 XS 1393 NYIN Y 9NT INDA 122710 333 RNWH 191 DININ)
And therefore since it is so that 7°27p claimed initially "v X12°7p XiX, he should
also be believed now in what he says that he did not eat the fruit, for he has a

9% that he did not have to admit that X"ax" is *5v 27p -
— Paya0a1a Y031y 01913 939 1929NT %Y K920

And X701 17 maintains that we utilize a »°» even when it contradicts a7y, as

> According to the X071 (and explanation) that 7°2p gifted him the tree (but did not explicitly admit the X"ax1 was
50 2117P); how do we understand the word "7X' - he admitted; what exactly did he admit.
% Since he did not admit that X"2x" is *5v 217p, why should we assume that he granted him the tree because X"ax" is
5 217p; perhaps he gave it to him because he did not want to argue with (such a prominent person as) &"ax".
7 The difficulties for this interpretation are to be found in footnotes # 5 & 6.
¥ The n"a7 M amends this to read X (instead of X97).
® The n"2n1 M1 amends this to read ¥R R RTOM 37 KR 2IKW
19 Had 7°3™p maintained his original claim (*2v X127 Xi1X); he would still be in possession of the tree, and X"2X"
would have no valid claim against him.
" The claim of *n9ax &> (which is supported by the 1°») is contradicted by 27 who testify that 22x.
12 935
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the X713 will shortly state."

mooIN rejects this interpretation:
— P91 NI29P NIN N 593 INY IR KY 90K 1798 XA 912909 1Y 71D 19 ONT

For if indeed this is so (the issue is whether 13X 2°7V 2I1P»2 1 or not) 1"
should have said, ‘but he is the one who said ‘I did not eat’ and he could have
said ‘I am the 5% 2192’ —

mooin offers an additional refutation of the proposed explanation:
— 403 PI0T9 RIWY SXNA NI 993 SPYONRY 199 M 19 O S

And furthermore (if it is indeed so [that they argue whether 13X 07y 23pP2 3»
or not]) the X should have [asked] and concluded also here in the same
manner as the X723 concludes later (in the following np¥2nn between 1"1 and X271 *ax),
namely that -

— [199N XY 1Y ©IPNa 1PYY 55 N1l XTON 297 XD INY X220 XY Na9) AN
X271 »ax do not agree with n'"= [for we do not utilize a =pw» % 7 when it
contradicts witnesses].

In summation: °2°77 admitted that X"aX2 is *9v 279 but denied that he ate the mo. 1"
exempted 7°2°7p from paying for the m17°® (even though there were witnesses that he ate),
because he has a °» that he need have not admitted that X"aX7 is *5v 2°7p. MdOIN negates this
XD, because there is no mention of his claim [>’n%38 R2] and the » is not clearly stated. In
addition X271 **2& should have responded 127K X2 D>7Y PR WM.

mooin offers an alternate interpretation and X07X:
— Y YN §IDT ©9) RDT 9P0¥ PNYY 135297 AN INIIN 13939 NOUN

And the "1 prefers the X27% of the r1'', who is not '579% >7I8 785,27 at all -
— 1192599 YIRT 2TN0 MNN 90V D) NIN

Rather the 11"1 is o3 that ‘eventually (X"2X7) bought witnesses that he (X"2x"9)

13 According to this explanation the npY?n between X701 27 and X271 »aR would be whether 117K 07y PR W1 or
not (similar to the np2nn mentioned shortly in the Xa3). This would seemingly remove the objections which n1ooIn
had to this X017 (according to 2"2w77 ") and to his own X073 The word 7% means that he indeed admitted that
X"2K7 is *5v 217p; the reasoning of 1" is because he has a 1°n and X271 *2X maintain 1R X2 0°7Y QPR WA
' The n"21 N3 amends this to read K7 (instead of nK).
' The claim of 7°2p is *n%ax XY, and *5v XI2p XX is the w» that supports his claim; 11" should have mentioned
his claim of *n%ax &7 (which he ignores completely; indicating that it is not his claim) and n"9 should have also
indicated (by adding 71X "¥2 °R1) that *5v X12p XX is (merely) a 13°», but not that he is claiming it now (as it seems
from the text).
' The 1"27 nAan amends this to read 11 5P10891 11995 72 M7 71 (deleting the 719 oX).
"7 Instead the X3 concludes T *7IT 1%, which is not the true reason why X2 »ax disagree with 1",
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is a relative of the deceased -
— N92) N¥NNN 290 NN 1P YTIN 29V DY 1N N9V 290 9P ©9) N9

But the X293 is not that X"287 ‘was a closer relative’, for the 0°7v were not

testifying that X''2 was a closer relative than the other person (7°2) -
— 119092999 YN 29V D1IYN 1910 KON

But rather they were merely testifying that X''9 was a relative of the deceased -
— PAMP 1Y DIV 1Y NI KDY IND IN 1299P NN NN ON 029991 11 KD N92) NN

And the witnesses did not know regarding 71°2°7? whether he was also a relative
of the deceased or not, and 77°2>7 has no witnesses that he was a relative —

MooIN reconsiders:
— Yoryr9n 0191 AV BN Y913 290 Y9Y 19281 29V D) 99N

And even [if we] are "pu' ©713; we can explain that to mean that the 2°7v knew

that X" was the closest relative from all the relatives whom the 27 knew -
- ZO‘PQV N92) NYNDIY IR YTIN 29 DT YTON 297 N2 NTON 29 MIPIN ‘[55

Therefore, 11''2 placed the tree in the possession of X'' since X''% was certainly

a relative and it was doubtful whether the other person was a relative at all.
— DONY NNY 1195 MDD D) ¥AIN Y1IN 29 NP

And R''9 was claiming payment for the fruits, since 7°27p7 admitted that he ate

the fruits of the tree -
— zzv:’ﬂ): n’b:N 97979 Y9N 193 9N 23 YJAN NY 99N 132 INT 192 NV 9V XTON AN

However n''1 exempted 7°2°7p from paying for the fruits since 7°2°p had a %,
for he could have said, ‘I did not eat the M0’ therefore even when he says ‘I

ate the M7 and they are mine’, he is believed -
— @YYY 29N STINY M50 IRV 113 5920 »aN) XA

However X271 28 maintain since he ate m17°» and admitted eating them; he is

liable to pay for them -
— 199 NIOY ¥PPAT 110 1 YT DN RS YPPM DINID 11993 11251199 N

'8 The "7 N amends this to read v 13073 3R 17080,
' They knew nothing, however, regarding :°a™p therefore they could not judge who of the two was the closer
relative.
0 The claim of X" was (partially) substantiated, while the claim of 727 had no substantiation at all. A w7 X
takes precedence over a w11 poo (even if the w7 poo is the pimm, the *X7 is XX from the po0). See ‘Thinking it
over’.
! This is not a 27y @pna W since the 0°7y do not explicitly contradict his claim that he is *5v 2177 and therefore
they also do not contradict his claim of *72x >7>7.
2 Previously (see footnote # 15) the claim was not mentioned (at all) and the 13» was mentioned as a claim.
However, here *51 X127Pn XiX is the claim (and the 137 is self-understood).
2 The n"a7 M7 amends this to read X3 X (instead of »ar1 R27).
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For he is not believed that “75X >7°7 with the Y (of °n%X ®Y), since he

relinquishes the tree legally; for concerning the tree there is no 1°1,” so once
the ypp is legally transferred to X"aX7 and 7°2°7p admitted to eating the n17°9, how can we
exempt him from paying for the m7°® which grew on a tree which legally belongs to X"ax".

In Summation: X"ax" brought witnesses that he was a 27p, however 1°2°7p had no witnesses that
he was a 217p, but admitted that he ate m7°5. "1 exempted him from paying since he had a wn»
of >n75R X?; however X271 »aR maintain that he has to pay since the field legally belongs to X"ax",
this renders the °» ineffective.

nooIN asks:
— PNaN 9395 R0 IR 199K (75 41 PP RN YN ON)
And if you will say; but later »2X said if you wish to compare the case of X',
you may compare it -
— 59599 193 1NN XTHO TNY

To a case of one witness and two years regarding the fruit; meaning that in a case -
— WY 9199 1IINY TINN YUY 29NY TN TN NN M9 YIRY NN

Where the P12 admits that he ate the ny2ss for two years and there is one 7v
that he was in this field and ate the m7°0 for two years, that the P> is liable to

pay, since he cannot swear to contradict the X"y -
— 2Babyh 250 950 XY NTHO 10 N9 N YN

However if there was no X"y that saw him eat the M7, he would not be

obligated to pay (even if he admitted that he ate the M) -
— ®aYws 19590 D) 110 HNNNA NE YPIDAY 1193 NI ININ)

But why is this so?! Let us say that since he relinquishes the »pap (it reverts
legally to the 2¥7yn, since he has no 7p117), he should also pay for the n95 as »ax

 Concerning the M2 we say that 7°2"1p had a 13 of *n%ax &%, which obviously cannot apply to the tree.
* The 127 M3 amends this to read XaX °277 87 K17
% The case of Xax "7 [Xo01] is where an 7¥ testified that j121%" grabbed a X201 (silver) from 11¥nw. 123%7 admitted to
taking the X201 but claims that it is his. The X"V is (seemingly) testifying that j21X7 stole, but 72187 is not
contradicting the X"V therefore he cannot swear against the X"V (since they agree), but he cannot retain the &01 for
25Wn yaws? 9130 11Rw inn (for an X"V is testifying that [seemingly] j21%7 stole). w'">.
7 The case is where there is one 7v that the P> was in this field and ate the Mm% for two years. There is obviously
no 7ptn and the field reverts to the 7v7yn. Had the p°inn denied eating any m7°9, he would have to swear and
contradict the X"y and be 705 from paying for the M0 of two years. However, the 117 admits that he ate the m7s,
but he claims it is his field and the n17°5 are his. He has a 13» that he could have said I did not eat the N17° and be
believed with a 7v12w; however since now he cannot swear to contradict the 7v who is testifying that he ate (without
a 1pm) the rule is abwn Yawey 137 WKW TINA.
¥ He is 701 to pay for the 110 for he is believed that *>2x »7°7 with a 13 of *n%ax K.
¥ It is a contradictory ruling; if the yp1p belongs to the 7y7w», so do the m70!
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X2 rule here.

Mo0IN answers:
— DYNWN NON 19919 1N T¥N) DY YOV NHIRY 90INY 299910 DNNT 91990 U

And one can say; that there it is a case where the 112 claims that he ate the

Mo for three years (and is the pimn), but the 7 confirms only two years (so

there is no pIM) -
— ¥ INHN RYY YPIPAVY 29 DY N 91097 XVIW NTHD TN NN XY N INTY ONNT

For in that case certainly if there would be no X"y that he ate m7'0 (two years),
the p°1177 is obviously =2 from paying for the M0 of three years even though he

relinquishes the 292 (and admits that he ate Mo for three years) -
— PN PPN NISNY 19 150 NY DI WY ATINT AINT INNA 119501 INT

For if you believe the »11» in that which he claims that he ate n17°d for three
years (and your want him to be liable for those n17°9), we could not remove the

ypap from his possession -
— Pnmtn 5w NYINT

Since he ate Mo the three apIm years!

mMooIn anticipates (and rejects) a rebuttal to the previous conclusion:
— *mban Y13 NIN ANPOY PNRNRI KD DAN DY YHY NDINY 1D PHINIT 9999100 NI

And we cannot say that we should believe the 11 that he ate m7°5 for three
years, however (he will be liable to pay, because) we will not believe him that he

bought the field (despite the alleged 71p117), but rather he ate the M7 illegally (he
stole the M179).

mooin offers a support for this conjecture:
— 2499y 1090 ANN YINIT (0w 3,197 o2y PPN 1999INTI
As "nX 1 stated in P17 292 that ‘you are believed to lose your wage -
— 11791 190 TU9NY 1IN NHN PN

% In this case, the only reason we can make the > pay for the n17°0 is because of his admission that he ate M7
for three years, and if we assume that the >1mn ate the n17°0 for three years it is a valid 7P, and the property should
remain by the pmnn. [Therefore (when giving the ¥p7p to the 7y7yn) we assume that the P 1n ate no Mo at all,
despite the ‘admission’ (or claim) of the p>mn.
! This way we can reconcile the fact that the p*1m» has to pay for the M7 of three years, but nevertheless he does
not have a npin, because we can assume that he ate it 7712
32 The case there is where a 7910 told >»x " that I did not write the names of '3 in this 7aw» n"o, thus rendering the
9109 n"o. The n"o was already bought and in the possession of the customer. *»x " ruled as follows.
3 The 7970 admitted that it was not written w5, thereby rendering the n"o worthless; the mp12 therefore does not
have to pay him, since he hired him to write a "2 n"o.

6

TosfosInEnglish.com



A" "7 oI R, 2" .7"0a

But you are not believed to ruin the n"9;** the n"o is “w> -

mooIN rejects the comparison:
— (NN 190V 29 5Y 98) *onnT ot X1

For (the two case are not comparable, for) there (even though that the n''®) [by

the case of an'"'9] -
—*yYY 1Ny 01y Y 19X NPIY 192 NINY 1193

Since it is in the possession of the buyer it is considered as if there are witnesses

that the MW were written ;72w (that explains why the n"o is Tw2) -
3. 0199 15 192590 PRY ANNIY 113 199Y Poon 0PN han

But nevertheless the 7910 loses his wage since he admitted that he is owed
nothing.

SUMMARY

[Either 727 admitted and granted the field to X"2X7 or] X"2aX7 brought witnesses
that he was a 217p and therefore since the field legally belonged to him, 7°2>77 had to
pay for the M0 despite his 21 (as 1" maintains). It is not comparable to the case of
7w °nAn, which is not comparable to the n'"'o case where the 7910 forfeited his wage.

THINKING IT OVER

MPoIN maintains that X"ax1 was a °X7) while the other was a po0.”” Seemingly
X"2X" stated 50 X12°7P XIX; indicating that X"aX7 admitted that 7°277p is a relative.
Why therefore is X"2X" considered a X7 and the 77277 is considered a pop?1*

* It is evident from there that we accept his admission where it is for his detriment (that he does not receive his
wages); however, we do not accept his admission if it adversely affects others; the n"o is 7> (even though the two
parts of the ruling are contradictory). Similarly here we should accept his admission (that he ate 2°1w 'x M7°9) only
for his detriment (that he is obligated to pay for the m7°9), but we do not accept his claim regarding a npIn where it
adversely affects the &np X7, the 7y7vn. [In the case of the 7P the two rulings would not be as contradictory (as
they are by the n"o) for we can say he ate M0 three years 2132 (however by the n"o if he loses his wages because he
wrote it w7 R7w, why is the w5 n"0).]
3 The n"2n M1 amends this to read 113 7790 7902 an7 (deleting the words 5"vR). The 7"w1n deletes that which is
in the parenthesis.
% Every n"o has a presumed m w> npin, unless we know that it is 9109.
37 The "7 M amends this to read D1pn 5om1 (instead of n"n).
¥ By the n"o case the 1910 is admitting that he is not owed any money, therefore (even though the n"o is deemed to
be "w2) he receives nothing (like 7"¥2 nX7177). However here the prn claims that the field is his and the M7 are his
since he made a 7pin. If he will have to pay for the M7’ indicating that indeed he made a 7ip1, the ypp should be
placed in his possession.
¥ See footnote # 20.
¥ See n"ma.
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